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Which methods can be used to recover data after a broker failure in Kafka?
(Select two)
Response:

A. Partition replication

B. Log compaction

C. Zookeeper coordination
D. Consumer groups

Answer: A,C

Which of the following modes can Kafka Connect run in?
Response:

A. Standalone and Distributed
B. Replicated and Partitioned
C. Client and Broker

D. Consumer and Producer

Answer: A

Which actions are necessary for securing a Kafka cluster with Kerberos?
(Select two)
Response:

A. Set up Key Distribution Center (KDC)

B. Create ACLs for all users

C. Configure security.protocol=PLAINTEXT

D. Configure Kafka clients with Kerberos tickets

Answer: A,D
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On rebalance, calculation of the partition assignment to the Consumer Group members is delegated to
which Consumer Group entity?

(Choose One)

Response:

A. Group Partitioner
B. Group Coordinator
C. Group Controller
D. Group Leader

Answer: D

What configuration options are crucial to managing log retention in a Kafka cluster?
(Select two)
Response:

A. log.retention.bytes

B. auto.create.topics.enable
C. retention.ms

D. min.insync.replicas

Answer: A,C

Which configuration enables TLS encryption for Kafka brokers?
Response:

A. ssl.enable=true

B. security.protocol=SSL

C. tls.encryption.enable=true
D. sasl.protocol=SSL

Answer: B
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Which of the following best describes Kafka as a Distributed Streaming Platform?
Response:

A. Kafka is primarily a messaging system with real-time streaming capabilities
B. Kafka is a batch processing system for large data analytics

C. Kafka provides storage, but not message streaming

D. Kafka is a database for structured data storage

Answer: A

Which configurations are required to optimize throughput in a Kafka Connect cluster?
(Select two)
Response:

A. batch.size
B. max.tasks
C. replication.factor
D. linger.ms

Answer: A,D

Which component of Kafka manages the exact log segment in which a message resides?
Response:

A. Zookeeper

B. Log Compaction
C. Partition

D. Producer

Answer: B

What is the primary purpose of SASL in securing Kafka?
Response:

A. To encrypt data during transmission
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B. To provide message compression
C. To authenticate clients connecting to the Kafka cluster
D. To manage consumer offsets securely

Answer: C
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